

## See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



# Form **990-PF**

# Return of Private Foundation or Section 4947(a)(1) Nonexempt Charitable Trust

OMB No 1545-0052

2011

Treated as a Private Foundation Department of the Treasury Internal Revenue Service Note. The foundation may be able to use a copy of this return to satisfy state reporting requirements For calendar year 2011, or tax year beginning . 2011, and ending Name of foundation Employer identification number Sayles & Maddocks Family Foundation 06-6395098 Telephone number (see the instructions) (978) 297-3590 Number and street (or P O box number if mail is not delivered to street address) Room/suite 139 Ash Street State ZIP code City or town Winchendon C If exemption application is pending, check here MA 01475 G Check all that apply Initial return Initial Return of a former public charity D 1 Foreign organizations, check here Final return Amended return 2 Foreign organizations meeting the 85% test, check Address change Name change here and attach computation Check type of organization |X| Section 501(c)(3) exempt private foundation Section 4947(a)(1) nonexempt charitable trust | Other taxable private foundation If private foundation status was terminated Fair market value of all assets at end of year under section 507(b)(1)(A), check here Accounting method: X Cash (from Part II, column (c), line 16) Other (specify) If the foundation is in a 60-month termination (Part I, column (d) must be on cash basis ) 1,796,646. under section 507(b)(1)(B), check here Part Manalysis of Revenue and (a) Revenue and (b) Net investment (c) Adjusted net (d) Disbursements Expenses (The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a) expenses per books income for charitable income purposes (cash basis only) (see instructions).) Contributions, gifts, grants, etc, received (att sch) X if the foundn is not reg to att Sch B Interest on savings and temporary cash investments 6 6 Dividends and interest from securities 81,186 81,186 5a Gross rents **b** Net rental income or (loss) L-6a Stmt 26,843. 6a Net gain/(loss) from sale of assets not on line 10 REVENUE **b** Gross sales price for all assets on line 6a 650,556 Capital gain net income (from Part IV, line 2) 26,843. Net short-term capital gain 9 Income modifications 10a Gross sales less returns and allowances **b** Less Cost of goods sold c Gross profit/(loss) (att sch) 11 Other income (attach schedule) 12 Total, Add lines 1 through 11 108,035. 108,035. Compensation of officers, directors, trustees, etc. 14 Other employee salaries and wages 15 Pension plans, employee benefits 16a Legal fees (attach schedule) b Accounting fees (attach sch) L-16b Stmt 2,500. 1,875. 625. c Other prof fees (attach sch) L-16c Stmt 13,283. 13,283. 17 Interest 18 Taxes (attach schedule)(see instrs) Foreign taxes pai 1,079. 1,079. Depreciation (attach 19 sch) and depletion 20 Occupancy 21 Travel, conferences, and meetings 22 Printing and publications 23 Other expenses (attach schedule) Total operating and administrative expenses. Add lines 13 through 23 16,862 16,237 625. 25 Contributions, gifts, grants paid 74,000. 74,000. Total expenses and disbursements. Add lines 24 and 25 90,862. 16,237 74,625. Subtract line 26 from line 12: a Excess of revenue over expenses and disbursements 17,173. 91,798 b Net investment income (if negative, enter -0-)

1,869,499. end-of-year figure reported on prior year's return) Enter amount from Part I, line 27a 2 17,173. Other increases not included in line 2 (itemize) 3 4 1,886,672. Add lines 1, 2, and 3 5 Decreases not included in line 2 (itemize) 6 6 Total net assets or fund balances at end of year (line 4 minus line 5) - Part II, column (b), line 30 1,886,672.

2-story brick warehou			(b) How ac	auurad	(c) Date acquired	(d) Date sold
	e the kınd(s) of property sold (e.g , r se, or common stock, 200 shares ML	ear estate, .C Company)	P — Purci D — Dona	hase	(month, day, year)	(month, day, year)
1a PUBLICLY TRADED SEC	CURITIES		P		12/31/10	12/31/11
ь						
c						<u> </u>
		<del></del>				
(e) Gross sales price	(f) Depreciation allowed	(g) Cost or other bas	sis I		(h) Gain or	(loss)
· · · · · · · · · · · · · · · · · · ·	(or allowable)	plus expense of sal	е		(e) plus (f) m	inus (g)
a 650,556.		62.	3,713.			26,843.
b c						
d		<del>-</del>				
е						
	ng gain in column (h) and owned by				(I) Gains (Colu	
(i) Fair Market Value as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Excess of column over column (j), if a		th	ain minus column (k an -0-) <b>or</b> Losses (fr	t), but not less om column (h))
a						26,843.
<u>b</u>					•	
. е					<u> </u>	
2 Capital gain net income or (net		enter in Part I, line 7 ter -0- in Part I, line 7		2		26,843.
3 Net short-term capital gain or (	loss) as defined in sections 1222(5) a	and (6)				
If gain, also enter in Part I, line in Part I, line	e 8, column (c) (see instructions) If (	loss), enter -0-		3		
Part V Qualification Unde	r Section 4940(e) for Reduce	d Tax on Net Investme	ent Inco	me		
	e foundations subject to the section 4					
If section 4940(d)(2) applies, leave the Was the foundation liable for the section of the sectio	nis part blank. tion 4942 tax on the distributable am ify under section 4940(e) Do not con	940(a) tax on net investmen ount of any year in the base nplete this part.	t income) period?		Yes	☐ No
If section 4940(d)(2) applies, leave the Was the foundation liable for the section of the sectio	nis part blank. tion 4942 tax on the distributable am	940(a) tax on net investmen ount of any year in the base nplete this part.	t income ) period? any entrie	s	Yes  (d)  Distribution  umn (b) divided l	ratio
If section 4940(d)(2) applies, leave the Was the foundation liable for the section of the sectio	tion 4942 tax on the distributable aming under section 4940(e). Do not continue each column for each year, see the heach column for each grant (b).	940(a) tax on net investmen ount of any year in the base nplete this part. e instructions before making (c) Net value of noncharitable-use ass	period?  any entriesets	s	(d) Distribution	ratio by column (c))
Was the foundation liable for the section 4940(d)(2) applies, leave the Was the foundation liable for the section of the Secti	tion 4942 tax on the distributable among under section 4940(e). Do not come each column for each year, see the (b).  Adjusted qualifying distributions.  68,000. 59,500.	ount of any year in the base nplete this part. instructions before making (c) Net value of noncharitable-use ass	period? any entries sets 1,154. 2,636.	s	(d) Distribution	ratio
If section 4940(d)(2) applies, leave the Was the foundation liable for the section of the sectio	tion 4942 tax on the distributable among under section 4940(e). Do not come each column for each year, see the (b).  Adjusted qualifying distributions.  68,000. 59,500.	ount of any year in the base inplete this part. Instructions before making (c) Net value of noncharitable-use ass	period? any entrie sets 1,154. 2,636. 6,813.	s	(d) Distribution	ratio by column (c)) 0.037964 0.037835 0.059025
If section 4940(d)(2) applies, leave the Was the foundation liable for the section of the sectio	tion 4942 tax on the distributable am afy under section 4940(e). Do not come each column for each year, see the (b).  Adjusted qualifying distributions.  68,000.  59,500.  115,500.  122,226.	ount of any year in the base inplete this part. I instructions before making (c) Net value of noncharitable-use ass  1,79: 1,57: 1,95: 2,41:	period?  any entrie  ets  1,154.  2,636.  6,813.  6,114.	s	(d) Distribution	ratio by column (c)) 0.037964 0.037835 0.059025 0.050588
If section 4940(d)(2) applies, leave the Was the foundation liable for the section of the sectio	tion 4942 tax on the distributable among under section 4940(e). Do not come each column for each year, see the (b).  Adjusted qualifying distributions.  68,000. 59,500.	ount of any year in the base inplete this part. I instructions before making (c) Net value of noncharitable-use ass  1,79: 1,57: 1,95: 2,41:	period? any entrie sets 1,154. 2,636. 6,813.	s	(d) Distribution	ratio by column (c)) 0.037964 0.037835 0.059025
If section 4940(d)(2) applies, leave the Was the foundation liable for the section of the sectio	tion 4942 tax on the distributable am afy under section 4940(e). Do not come each column for each year, see the (b).  Adjusted qualifying distributions.  68,000.  59,500.  115,500.  122,226.	ount of any year in the base inplete this part. I instructions before making (c) Net value of noncharitable-use ass  1,79: 1,57: 1,95: 2,41:	period?  any entrie  ets  1,154.  2,636.  6,813.  6,114.	s	(d) Distribution	ratio by column (c)) 0.037964 0.037835 0.059025 0.050588
If section 4940(d)(2) applies, leave the Was the foundation liable for the section of the sectio	tion 4942 tax on the distributable am afy under section 4940(e). Do not come each column for each year, see the (b).  Adjusted qualifying distributions.  68,000.  59,500.  115,500.  122,226.	ount of any year in the base inplete this part. Instructions before making (c) Net value of noncharitable-use ass  1,79: 1,57: 2,41: 2,26: al on line 2 by 5, or by the	period?  any entrie  ets  1,154.  2,636.  6,813.  6,114.	s (colu	(d) Distribution	ratio by column (c)) 0.037964 0.037835 0.059025 0.050588 0.079528
Was the foundation liable for the section 4940(d)(2) applies, leave the Was the foundation liable for the section of the secti	tion 4942 tax on the distributable among under section 4940(e). Do not come each column for each year, see the (b).  Adjusted qualifying distributions.  68,000. 59,500. 115,500. 122,226. 179,851.	ount of any year in the base inplete this part. Instructions before making (c) Net value of noncharitable-use ass  1,79: 1,57: 2,41: 2,26: al on line 2 by 5, or by the years	period?  any entrie  ets  1,154.  2,636.  6,813.  6,114.	s (colu	(d) Distribution umn (b) divided l	ratio by column (c)) 0.037964 0.037835 0.059025 0.050588 0.079528 0.264940
Was the foundation liable for the section 4940(d)(2) applies, leave the Was the foundation liable for the section of the secti	tion 4942 tax on the distributable am afy under section 4940(e). Do not come each column for each year, see the (b).  Adjusted qualifying distributions.  68,000.  59,500.  115,500.  122,226.  179,851.	ount of any year in the base inplete this part. Instructions before making (c) Net value of noncharitable-use ass  1,79: 1,57: 2,41: 2,26: al on line 2 by 5, or by the years	period?  any entrie  ets  1,154.  2,636.  6,813.  6,114.	2 3	(d) Distribution umn (b) divided l	ratio by column (c)) 0.037964 0.037835 0.059025 0.050588 0.079528 0.264940 0.052988
If section 4940(d)(2) applies, leave the Was the foundation liable for the section of the sectio	tion 4942 tax on the distributable am ify under section 4940(e) Do not come each column for each year, see the (b) Adjusted qualifying distributions  68,000. 59,500. 115,500. 122,226. 179,851.	ount of any year in the base inplete this part. Instructions before making (c) Net value of noncharitable-use ass  1,79: 1,57: 2,41: 2,26: al on line 2 by 5, or by the years	period?  any entrie  ets  1,154.  2,636.  6,813.  6,114.	2 3	(d) Distribution umn (b) divided l	ratio by column (c)) 0.037964 0.037835 0.059025 0.050588 0.079528 0.264940 0.052988 .,977,021.
If section 4940(d)(2) applies, leave the Was the foundation liable for the sect of Yes, the foundation does not qual 1 Enter the appropriate amount in (a)  Base period years Calendar year (or tax year beginning in)  2010  2009  2008  2007  2006  2 Total of line 1, column (d)  3 Average distribution ratio for the number of years the foundation  4 Enter the net value of noncharitation of Multiply line 4 by line 3	tion 4942 tax on the distributable am ify under section 4940(e) Do not come each column for each year, see the (b) Adjusted qualifying distributions  68,000. 59,500. 115,500. 122,226. 179,851.	ount of any year in the base inplete this part. Instructions before making (c) Net value of noncharitable-use ass  1,79: 1,57: 2,41: 2,26: al on line 2 by 5, or by the years	period?  any entrie  ets  1,154.  2,636.  6,813.  6,114.	2 3 4	(d) Distribution umn (b) divided l	ratio by column (c)) 0.037964 0.037835 0.059025 0.050588 0.079528 0.264940 0.052988 .,977,021. 104,758.
Was the foundation liable for the sect of 'Yes,' the foundation does not qual 1 Enter the appropriate amount in (a)  Base period years Calendar year (or tax year beginning in)  2010 2009 2008 2007 2006  2 Total of line 1, column (d)  3 Average distribution ratio for the number of years the foundation  4 Enter the net value of noncharities Multiply line 4 by line 3  6 Enter 1% of net investment inc.  7 Add lines 5 and 6  8 Enter qualifying distributions from	tion 4942 tax on the distributable amily under section 4940(e). Do not come each column for each year, see the (b).  Adjusted qualifying distributions.  68,000. 59,500. 115,500. 122,226. 179,851.  e 5-year base period — divide the tot has been in existence if less than 5 table-use assets for 2011 from Part.)	ount of any year in the base inplete this part. Instructions before making (c) Net value of noncharitable-use ass  1,79: 1,57: 2,41: 2,26: al on line 2 by 5, or by the years  (, line 5	period? any entrie sets 1,154. 2,636. 6,813. 6,114. 1,484.	2 3 4 5 6 7	(d) Distribution umn (b) divided l	ratio by column (c))  0.037964  0.037835  0.059025  0.050588  0.079528  0.264940  0.052988  .,977,021.  104,758.

Form 990-PF (2011) Sayles & Maddocks Family Foundation		6-6395	
Part VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b),	<u>, 4940(e), or 4948 — s</u>	ee instru	ctions)
1 a Exempt operating foundations described in section 4940(d)(2), check here			
Date of ruling or determination letter: (attach copy of letter if necessary - s	see instrs)		
<b>b</b> Domestic foundations that meet the section 4940(e) requirements in Part V,	<u> </u>	1	1,836.
check here ► _ and enter 1% of Part I, line 27b			
c All other domestic foundations enter 2% of line 27b Exempt foreign organizations enter 4% of Part I, line 12,	, column (b)l		
2 Tax under section 511 (domestic section 4947(a)(1) trusts and taxable			
foundations only Others enter -0-)		2	0.
3 Add lines 1 and 2		3	1,836.
4 Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only	ly Others enter -0-)	4	0.
5 Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-		5	1,836.
6 Credits/Payments:	1	_	11.12.13
a 2011 estimated tax pmts and 2010 overpayment credited to 2011	*	<u> </u>	
b Exempt foreign organizations — tax withheld at source			A LAVIA
c Tax paid with application for extension of time to file (Form 8868)	1		
d Backup withholding erroneously withheld	<u>                                     </u>	_	
7 Total credits and payments Add lines 6a through 6d		7	0.
8 Enter any penalty for underpayment of estimated tax. Check here X if Form 2220 is	s attached	8	44.
9 Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed		<b>9</b>	1,880.
Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid	1	10	0.
11 Enter the amount of line 10 to be. Credited to 2012 estimated tax	Refunded	<b>►</b>   11	
Part VII-A Statements Regarding Activities			7 WW V- N-
1a During the tax year, did the foundation attempt to influence any national, state, or local liparticipate or intervene in any political campaign?	legislation or did it		Yes No
<b>b</b> Did it spend more than \$100 during the year (either directly or indirectly) for political pur	urnos os		111
(see the instructions for definition)?	ii poses		1 b X
If the answer is 'Yes' to 1a or 1b, attach a detailed description of the activities and copie	es of any materials ni	ihlished	2 1 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
or distributed by the foundation in connection with the activities	os or any materials pe	ibiisiica	
c Did the foundation file Form 1120-POL for this year?			1c X
d Enter the amount (if any) of tax on political expenditures (section 4955) imposed during			
(1) On the foundation		<u> </u>	
foundation managers	renulture tax imposeu	OH	
2 Has the foundation engaged in any activities that have not previously been reported to the	the IRS?		2 X
If 'Yes,' attach a detailed description of the activities			5 3 3 6 2 6 A
		_	
3 Has the foundation made any changes, not previously reported to the IRS, in its governing of incorporation, or bylaws, or other similar instruments? If 'Yes,' attach a conformed co.	ing instrument, article: opy of the changes	S	3 X
4a Did the foundation have unrelated business gross income of \$1,000 or more during the y			4a X
<b>b</b> If 'Yes,' has it filed a tax return on <b>Form 990-T</b> for this year?	•		4b
5 Was there a liquidation, termination, dissolution, or substantial contraction during the year?			5 X
If 'Yes,' attach the statement required by General Instruction T			S. 1 P Can.
6 Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied	d either:		
By language in the governing instrument, or			
		<i>.</i> .	
<ul> <li>By state legislation that effectively amends the governing instrument so that no manda with the state law remain in the governing instrument?</li> </ul>	atory directions that co	onflict	6 X
7 Did the foundation have at least \$5,000 in assets at any time during the year? If 'Yes,' complete Part II, column (	(c), and Part XV		7 X
8a Enter the states to which the foundation reports or with which it is registered (see instruc	• • •		387 802 834
CT - Connecticut	,	-	
<b>b</b> If the answer is 'Yes' to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate) of each state as required by <i>General Instruction G? If 'No,' attach explanation</i>			8b X
	of analysis 4042(1)(2) as	. 4040656	#140F 1-24C 10 14C 15
9 Is the foundation claiming status as a private operating foundation within the meaning of for calendar year 2011 or the taxable year beginning in 2011 (see instructions for Part X	or section 4942(J)(3) of KIV)? If 'Yes,' complet	e Part XI	V 9 X
10 Did any persons become substantial contributors during the tax year? If 'Yes,' attach a s and addresses	scredule listing their r	iairies	10   X
AA			Form <b>990-PF</b> (2011)

► 20<sub>\_</sub> , 20<sub>\_</sub> , 20<sub>\_</sub> , 20<sub>\_</sub>

3a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time during the year?

**b** If 'Yes,' did it have excess business holdings in 2011 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the foundation had excess business holdings in 2011)

4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?

b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2011?

3 b

Yes X No

Form 990-PF (2011) Sayles & Maddocks			06-63	95098 Page <b>6</b>
Part VII-B   Statements Regarding Activit	ies for Which Form	1 4720 May Be Req	uired (continued)	
5a During the year did the foundation pay or incur	any amount to:			
(1) Carry on propaganda, or otherwise attempt	t to influence legislation	(section 4945(e))?	Yes X	No
(2) Influence the outcome of any specific publi on, directly or indirectly, any voter registra	c election (see section tion drive?	4955), or to carry		No 7
(3) Provide a grant to an individual for travel,	study, or other similar p	ourposes?	∐ Yes X	No   1,   1,   4
(4) Provide a grant to an organization other th in section 509(a)(1), (2), or (3), or section	an a charıtable, etc, orç 4940(d)(2)? (see ınstru	ganization described ctions)	Yes X	No
(5) Provide for any purpose other than religiou educational purposes, or for the prevention	s, charitable, scientific, of cruelty to children o	literary, or r animals?	Yes X	No
b If any answer is 'Yes' to 5a(1)-(5), did any of the described in Regulations section 53 4945 or in (see instructions)?			ons	5b
Organizations relying on a current notice regar	ding disaster assistance	e check here	▶ [_]	
c If the answer is 'Yes' to question 5a(4), does the tax because it maintained expenditure respons	ibility for the grant?		Yes	No
If 'Yes,' attach the statement required by Regu	lations section 53 4945-	·5(d)		
6a Did the foundation, during the year, receive any on a personal benefit contract?	•		Yes X	
<b>b</b> Did the foundation, during the year, pay premit	ıms, directly or indirectl	y, on a personal benefit	contract?	6b X
<ul> <li>7a At any time during the tax year, was the foundation</li> </ul>	ation a party to a prohib	uted tax shelter transact	ion? Yes X	No
<b>b</b> If 'Yes,' did the foundation receive any proceed				7b
Part VIII Information About Officers, D				mployees,
and Contractors				
1 List all officers, directors, trustees, foundation			•	<del>-</del>
(a) Name and address	(b) Title, and average hours per week devoted to position	(c) Compensation (If not paid, enter -0-)	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, other allowances
Marily M. Kerney				-
139 Ash Street	Pres./Trustee	_	_	
Winchendon MA 01475	0.50	0.	0.	0.
Dwight M. Sayles	77D / Maria - 1			
3587 Hagan Grant Lane Jacksonville FL 32223	VP/Trustee 0.10	0.	0.	0.
David M. Harris	0.10	0.	<u> </u>	0.
15 Pond Lane	Treas./Trustee			
Darien CT 06820-3633	0.10	0.	0.	0.
See Information about Officers, Directors, Trustees, Etc				
		0.	0.	0.
2 Compensation of five highest-paid employees			•	· · · · · ·
(a) Name and address of each employee paid more than \$50,000	(b) Title, and average hours per week devoted to position	(c) Compensation	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, other allowances
None				
		;		
0				
0	-			
0				
0				
Total number of other employees paid over \$50,000			<u> </u>	None
BAA	TEEA0306 1	2/05/11		Form <b>990-PF</b> (2011)

Form 990-PF (2011) Sayles & Maddocks Family Foundation 06-63	
Part VIII Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid I and Contractors (continued)	Employees,
3 Five highest-paid independent contractors for professional services (see instructions). If none, enter 'NONE.'	
(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c) Compensation
None	
Total number of others receiving over \$50,000 for professional services	·  No
1	-
2	-
	-
3	
<b></b>	-
	-
4	
	-
	1
Part IX-B Summary of Program-Related Investments (see instructions)	
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2	Amount
1	
	1
2	
All other program-related investments. See instructions	
3	
Total. Add lines 1 through 3	
<del>7</del>	

Adjusted qualifying distributions. Subtract line 5 from line 4

Page 8 Part X | Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations. see instructions.) 1 Fair market value of assets not used (or held for use) directly in carrying out charitable, etc. purposes, a Average monthly fair market value of securities 1 a 1,910,074. 1 b b Average of monthly cash balances 97,054. c Fair market value of all other assets (see instructions) 1 c d Total (add lines 1a, b, and c) 1 d 2,007,128. e Reduction claimed for blockage or other factors reported on lines 1a and 1c 1 e (attach detailed explanation) 2 Acquisition indebtedness applicable to line 1 assets 2 2,007,128. 3 Subtract line 2 from line 1d 3 Cash deemed held for charitable activities Enter 1-1/2% of line 3 (for greater amount, see instructions) 4 30,107. Net value of noncharitable-use assets. Subtract line 4 from line 3 Enter here and on Part V, line 4 5 1,977,021. Minimum investment return. Enter 5% of line 5 6 98,851. Part XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and certain foreign organizations check here and do not complete this part.) Minimum investment return from Part X, line 6 98,851. 2a 1,836 -2a Tax on investment income for 2011 from Part VI. line 5 b income tax for 2011 (This does not include the tax from Part VI) 2ь c Add lines 2a and 2b 2 c 1,836. 3 Distributable amount before adjustments Subtract line 2c from line 1 3 97,015. 4 Recoveries of amounts treated as qualifying distributions 4 Add lines 3 and 4 5 97,015. Deduction from distributable amount (see instructions) 6 Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII, line 1 7 97,015. Part XII Qualifying Distributions (see instructions) Amounts paid (including administrative expenses) to accomplish charitable, etc. purposes a Expenses, contributions, gifts, etc - total from Part I, column (d), line 26 1 a 74,625. **b** Program-related investments — total from Part IX-B 1 b Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc. purposes 2 Amounts set aside for specific charitable projects that satisfy the a Suitability test (prior IRS approval required) 3 a 3 b **b** Cash distribution test (attach the required schedule) Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4 4 74,625. Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income Enter 1% of Part I, line 27b (see instructions) 5 0.

BAA

Form 990-PF (2011)

74,625.

6

Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for the section 4940(e) reduction of tax in those years

Page 9

Part XIII Undistributed Income (see instructions)

	<b>(a)</b> Corpus	(b) Years prior to 2010	<b>(c)</b> 2010	<b>(d)</b> 2011
1 Distributable amount for 2011 from Part XI, line 7				97,015.
2 Undistributed income, if any, as of the end of 2011.				3,,013.
a Enter amount for 2010 only			89,558.	
<b>b</b> Total for prior years: 20 , 20 , 20				
3 Excess distributions carryover, if any, to 2011				
a From 2006 80,374.				1
<b>b</b> From 2007 <b>5,672.</b>				
c From 2008 48,417.				,
<b>d</b> From 2009 <b>0</b> .			:	
e From 2010 0.	*			
f Total of lines 3a through e	134,463.	·	——————————————————————————————————————	*
4 Qualifying distributions for 2011 from Part		ş.	, · .	
XII, line 4: ► \$ <b>74,625.</b>		· *	×′	
a Applied to 2010, but not more than line 2a		321	0.	
<b>b</b> Applied to undistributed income of prior years (Election required — see instructions)		0.		
c Treated as distributions out of corpus (Election required — see instructions)	0.			
d Applied to 2011 distributable amount		(ARA) (72° )		74,625.
e Remaining amount distributed out of corpus	0.			
5 Excess distributions carryover applied to 2011	22,390.	enta juli sustat t		22,390.
(If an amount appears in column (d), the same amount must be shown in column (a) )	¥.			
Same amount must be shown in column (a)				
6 Enter the net total of each column as				
indicated below:				
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	112,073.	24 X X X X X X X X X X X X X X X X X X X		
<b>b</b> Prior years' undistributed income Subtract line 4b from line 2b		0.		
c Enter the amount of prior years' undistribut-		0.		
ed income for which a notice of deficiency			,; < 9.1	
has been issued, or on which the section 4942(a) tax has been previously assessed				
			<i>*</i>	
d Subtract line 6c from line 6b. Taxable amount — see instructions	,	0.		3
e Undistributed income for 2010 Subtract line 4a from				
line 2a Taxable amount — see instructions			89,558.	
f Undistributed income for 2011 Subtract lines				
4d and 5 from line 1. This amount must be				0.
distributed in 2012  7 Amounts treated as distributions out of				<u> </u>
corpus to satisfy requirements imposed				
by section 170(b)(1)(F) or 4942(g)(3) (see instructions)				
,				
8 Excess distributions carryover from 2006 not applied on line 5 or line 7 (see instructions)	57,984.			
9 Excess distributions carryover to 2012. Subtract lines 7 and 8 from line 6a	54,089.			
10 Analysis of line 9				
a Excess from 2007 5, 672.				
<b>b</b> Excess from 2008 48,417.	]			
c Excess from 2009 0.	]			
d Excess from 2010 0.				
e Excess from 2011 0.				

income from Part I or the minimum investment return from Part X for each year listed  b 85% of line 2a  c Qualifying distributions from Part XII, line 4 for each year listed  d Amounts included in line 2c not used directly for active conduct of exempt activities  e Qualifying distributions made directly for active conduct of exempt activities Subtract line 2d from line 2c  3 Complete 3a, b, or c for the alternative test relied upon  a 'Assets' alternative test — enter:  (1) Value of all assets  (2) Value of assets qualifying under section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(III)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Comassets at any time during the yea	nation letter th	nat it is a private op	perating foundation,	and the ruling 4942(j)(3) or	N/A 4942(j)(5)
b Check box to indicate whether the foundation is a  2a Enter the lesser of the adjusted net income from Part I or the minimum investment return from Part X for each year listed  b 85% of line 2a  c Qualifying distributions from Part XII, line 4 for each year listed  d Amounts included in line 2c not used directly for active conduct of exempt activities  e Qualifying distributions made directly for active conduct of exempt activities  Subtract line 2d from line 2c  3 Complete 3a, b, or c for the alternative test relied upon  a 'Assets' alternative test — enter:  (1) Value of all assets  (2) Value of assets qualifying under section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(ii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Comassets at any time during the year)	private opera ax year	iting foundation des	scribed in section Prior 3 years	4942(j)(3) or	4942(j)(5)
2a Enter the lesser of the adjusted net income from Part I or the minimum investment return from Part X for each year listed  b 85% of line 2a  c Qualifying distributions from Part XII, line 4 for each year listed  d Amounts included in line 2c not used directly for active conduct of exempt activities  e Qualifying distributions made directly for active conduct of exempt activities Subtract line 2d from line 2c  3 Complete 3a, b, or c for the alternative test relied upon  a 'Assets' alternative test — enter:  (1) Value of all assets  (2) Value of assets qualifying under section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Comassets at any time during the year)	ax year		Prior 3 years		4942()(5)
income from Part I or the minimum investment return from Part X for each year listed  b 85% of line 2a  c Qualifying distributions from Part XII, line 4 for each year listed  d Amounts included in line 2c not used directly for active conduct of exempt activities  e Qualifying distributions made directly for active conduct of exempt activities Subtract line 2d from line 2c  3 Complete 3a, b, or c for the alternative test relied upon  a 'Assets' alternative test — enter:  (1) Value of all assets  (2) Value of assets qualifying under section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Comassets at any time during the year)		<b>(b)</b> 2010	T	(4) 2002	
investment return from Part X for each year listed  b 85% of line 2a  c Qualifying distributions from Part XII, line 4 for each year listed  d Amounts included in line 2c not used directly for active conduct of exempt activities  e Qualifying distributions made directly for active conduct of exempt activities Subtract line 2d from line 2c  3 Complete 3a, b, or c for the alternative test relied upon  a 'Assets' alternative test — enter'  (1) Value of all assets  (2) Value of assets qualifying under section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Comassets at any time during the year)	(a) 2011	<b>(b)</b> 2010	(c) 2009	(4N 0000	
c Qualifying distributions from Part XII, line 4 for each year listed  d Amounts included in line 2c not used directly for active conduct of exempt activities  e Qualifying distributions made directly for active conduct of exempt activities Subtract line 2d from line 2c  3 Complete 3a, b, or c for the alternative test relied upon  a 'Assets' alternative test — enter:  (1) Value of all assets  (2) Value of assets qualifying under section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Comassets at any time during the yea				(d) 2008	(e) Total
c Qualifying distributions from Part XII, line 4 for each year listed  d Amounts included in line 2c not used directly for active conduct of exempt activities  e Qualifying distributions made directly for active conduct of exempt activities Subtract line 2d from line 2c  3 Complete 3a, b, or c for the alternative test relied upon  a 'Assets' alternative test — enter:  (1) Value of all assets  (2) Value of assets qualifying under section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Comassets at any time during the yea					
line 4 for each year listed  d Amounts included in line 2c not used directly for active conduct of exempt activities  e Qualifying distributions made directly for active conduct of exempt activities Subtract line 2d from line 2c  3 Complete 3a, b, or c for the alternative test relied upon  a 'Assets' alternative test — enter:  (1) Value of all assets  (2) Value of assets qualifying under section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Comassets at any time during the yea					
for active conduct of exempt activities  e Qualifying distributions made directly for active conduct of exempt activities Subtract line 2d from line 2c  3 Complete 3a, b, or c for the alternative test relied upon  a 'Assets' alternative test — enter:  (1) Value of all assets  (2) Value of assets qualifying under section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Comassets at any time during the yea					
for active conduct of exempt activities Subtract line 2d from line 2c  3 Complete 3a, b, or c for the alternative test relied upon a 'Assets' alternative test — enter:  (1) Value of all assets (2) Value of assets qualifying under section 4942(j)(3)(B)(i) b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV* Supplementary Information (Com assets at any time during the yea					
alternative test relied upon  a 'Assets' alternative test — enter'  (1) Value of all assets  (2) Value of assets qualifying under section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Comassets at any time during the yea	,				
(1) Value of all assets (2) Value of assets qualifying under section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter: (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Com assets at any time during the yea					
(2) Value of assets qualifying under section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV* Supplementary Information (Com assets at any time during the yea					
section 4942(j)(3)(B)(i)  b 'Endowment' alternative test — enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Com assets at any time during the yea					
minimum investment return shown in Part X, line 6 for each year listed  c 'Support' alternative test — enter:  (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Com assets at any time during the yea					
(1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Com assets at any time during the year)					_
investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)  (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV* Supplementary Information (Com assets at any time during the yea					•
more exempt organizations as provided in section 4942(j)(3)(B)(iii)  (3) Largest amount of support from an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Comassets at any time during the year)					
an exempt organization  (4) Gross investment income  Part XV. Supplementary Information (Comassets at any time during the yea					
Part XV Supplementary Information (Com assets at any time during the yea					
assets at any time during the yea					
	plete this	part only if the	organization ha	d \$5,000 or more	e in
1 Information Regarding Foundation Managers:	- 3cc III3	structions.)			
a List any managers of the foundation who have cor close of any tax year (but only if they have contrib	ntributed more	e than 2% of the to an \$5,000) (See so	tal contributions rece ection 507(d)(2))	eived by the foundation	on before the
None					
<b>b</b> List any managers of the foundation who own 10% a partnership or other entity) of which the foundation.  None	6 or more of t ion has a 10%	he stock of a corpo 6 or greater interes	ration (or an equally t	large portion of the	ownership of
2 Information Regarding Contribution, Grant, Gift, I Check here ► X if the foundation only makes or requests for funds If the foundation makes gifts, grouplete items 2a, b, c, and d	ontributions to	preselected char	table organizations a		
a The name, address, and telephone number of the	person to wh	om applications sh	ould be addressed		
<b>b</b> The form in which applications should be submitte	ed and informa	ation and materials	they should include	<del></del>	
c Any submission deadlines.	-				
d Any restrictions or limitations on awards, such as	by goograph:	cal areas, charitabl	e fields, kinds of ins	titutions, or other fac	ctors

Recipient	If recipient is an individual, show any relationship to	Foundation	Purpose of grant or	Amount
Name and address (home or business)	any foundation manager or substantial contributor	recipient	contribution	
a Paid during the year				
Harvard University		Public	1	
124 Mt. Auburn St		Charity	,	
Cambridge MA 0213	8		General charitable purposes	1,000.
Wheaton College		Public	_	
26 East Main Street		Charity	d	
Norton MA 0276	6		General charitable purposes	12,000.
Simmons College		Public		
300 The Fenway		charity	<i>i</i>	
Boston MA 0211	5		General charitable purposes	12,000.
American Red Cross		Public		
158 Brooklawn Ave		charity	4	
Bridgeport. CT 0660	4		General charitable purposes	8,000.
Norwalk Hospital Fdn		Public		
34 Maple Street		charity	d i	
Norwalk CT 0685	6		General charitable purposes	6,000.
United Way		Public		
PO Box 906		charity	4	
Norwalk CT 0685	2		General charitable purposes	4,500.
Unitarian Church of Westport		Public		
10 Lyons Plain Rd		charity	ή	
Westport CT 0688	0		General charitable purposes	3,500.
Alzheimer's Association		Public	Į Į	
279 New Britain Rd	_	charity		
Kensington CT 0603	7	_ , , , .	General charitable purposes	2,500.
Guide Dog Foundation		Public		
371 East Jericho Turnpike	_	charity		C 000
Smithtown NY 1178	<b>'</b>		General charitable purposes	6,000.
See Line 3a statement				
				18,500.
				·
	<u> </u>			
Total	1	<del></del>	► 3a	74,000.
<b>b</b> Approved for future payment			;	
			İ	
			]	
		i		
			1	
	1			
			į į	
			1	
Total			► 3b	
PAA	TECANON	07/14/11		Form 990 PF (201)

Part XVI-A		/ h	D	A - 11 - 11
Dart YVI.A	I Anabice	AT INCAMA	-DYANICIDA	/\CTI\/ITIQC
rail Avita	I MIIAIVSIS	OI IIICUIIIC	-r i ouuciiiu	ACUVILIES

nter gross amounts unless otherwise indicated.	Unrelat	ed business income	Exclude	d by section 512, 513, or 514	(e)
	(a) Business code	<b>(b)</b> Amount	(c) Exclu- sion	<b>(d)</b> Amount	Related or exempt function income (See instructions)
1 Program service revenue			code		
a			<del> </del>		<del> </del>
b					
c					
d					
e					
f					
g Fees and contracts from government agencies					
2 Membership dues and assessments					
3 Interest on savings and temporary cash investments			14	6.	
4 Dividends and interest from securities			14	81,186.	
5 Net rental income or (loss) from real estate		Salah Alikati.		The modern San all S	
a Debt-financed property					, <u> </u>
<b>b</b> Not debt-financed property					
6 Net rental income or (loss) from personal property				1,22	
7 Other investment income					·
8 Gain or (loss) from sales of assets other than inventory			18	26,843.	
Net income or (loss) from special events					
10 Gross profit or (loss) from sales of inventory		·			<del></del> .
11 Other revenue	10000000				
a	2 37,7007-30 may 1701 V	V / N / / V SANSAR I W NAME OF THE PARTY OF			**************************************
b					··· ,
c					
d					
e					
12 Subtotal Add columns (b), (d), and (e)	\$538 g \$138 g \$1		\$2.000 m	108,035.	-
13 Total. Add line 12, columns (b), (d), and (e)	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		_ I	13	108,035.
See worksheet in line 13 instructions to verify calculate	tions )			-	•
		<del> </del>			
Part≹XVI-B Relationship of Activities to t	he Accompl	ishment of Exemp	ot Purpo	oses	

▼	accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes) (See instructions )
·	
-	
-	

# Form 990-PF (2011) Sayles & Maddocks Family Foundation 06-6395098 Part XVII Information Regarding Transfers To and Transactions and Relationships With Noncharitable Exempt Organizations

									/	Yes	No
1 [	Old the o	rganization directly of in section 501(c) o	or indirectly er	ngage in any of	the following	with an	y other organizat	ion 2 527	, ,		
r	elating t	o political organizati	ons?	ici tilali sectio	11 301(0)(3) 019	jai lizati	ions) or in section	1327,	27		
аT	Transfers	from the reporting	foundation to a	a noncharitable	e exempt organ	ıızatıon	of:				1,1
(	<b>1)</b> Cash	1							1a (1)		X
(	<b>2)</b> Othe	r assets							1a (2)		X
b C	Other tra	nsactions:							2.23.2	"'	41
(	1) Sale:	s of assets to a none	charitable exer	npt organizatio	on				1 b (1)		X
(	<b>2)</b> Purc	hases of assets from	n a noncharital	ble exempt org	anızatıon				1 b (2)		X
(	<b>3)</b> Rent	al of facilities, equip	ment, or other	assets					1 b (3)		X
(	4) Reim	bursement arrangen	nents						1 b (4)		X
(	<b>5)</b> Loan	s or loan guarantees	5						1 b (5)		X
(	6) Perfo	ormance of services	or membership	p or fundraisin	g solicitations				1 b (6)		X
c S	Sharing o	of facilities, equipme	nt, mailing list	s, other assets	s, or paid empl	oyees			1c		X
						•			<del></del> -		
tl	he good:	swer to any of the ab s, other assets, or se saction or sharing ar	ervices given b	by the reporting	g foundation If	the for	ındatıon received	less than fair mar	ket value ın	of	
(a) Lın		(b) Amount involved	r -	of noncharitable ex				transfers, transactions.		cement	
<u>,</u>	1.0.	(L) ranount involved	(C) Hamo	THORIGINAL TABLE	ompt organization	_	(a) Booking action	transfers, transactions,	, and onlaring arran	gornont	
				<del></del>		_	<del></del>		***************************************		
		. —						,			
									<del></del>		
					······································						
								•		-	
								·			
		<del></del>	<del></del>			· ·		<del></del>			
		· · · · · · · · · · · · · · · · · · ·								·	<del></del>
								· · · · · · · · · · · · · · · · · · ·			
-		<del></del>	-								
					· · · · · · · · · · · · · · · · · · ·			······			
•	11 1										
<b>Za</b> 19	s tne tou described	indation directly or indication directly or indication 501(c) or	ndirectly aπilia f the Code (oth	tea with, or rei ner than sectio	ated to, one or n 501(c)(3)) or	more i	tax-exempt organ tion 527?	izations	☐Yes	X	No
		complete the following	•		(////						-
	<u>-</u>	Name of organization		<b>(b)</b> Tv	pe of organiza	tion		(c) Description of	f relationship		
-		<b>.</b>		, , ,	<u>,                                     </u>			,	<u>'                                    </u>		
	-										
									-		
							<u> </u>				
	Under pe	enalties of perjury, I declare and complete Declaration	e that I have exam	ined this return, inc	luding accompanyii	ng schedu	iles and statements, ar	nd to the best of my know	wledge and belief, if	is true,	
	correct,	and complete Declaration	of preparer (other)	than taxpayer) is bi	ased on all information	ION OF WIT	iich preparer has any k	rnowledge	May the II		
ign		16 1	1/11/1	-1 -	5/1/	12	<b>N</b>	_	this return	with th	e
lere		MULY	MX	W)	0 <del>3/20/1</del>	2	Presiden	it	preparer : (see instr		
	Signat	ure of officer or trustee		10/2	Date		Title		1	Yes	No
		Print/Type preparer's nam		1 (	's sonature		Date	Check	if PTIN		
aid		David A. Ber	<del></del>		511	_ 4	04/26/	<u> </u>			
repa	arer			JOHNSON &	COMPANY,	P.C	•	Firm's EIN ►			
lse (	Only		5 MAIN ST	TREET							
		T	OPSFIELD			MA	01983	Phone no (S	978) 887-2	2220	
AA									Form <b>99</b> 6	0-PF (	2011)

# Form 990-PF Part I, Line 6a

# **Net Gain or Loss From Sale of Assets**

2011

me '	. Danila Panadatian	Employer Identification Number
ayles & Maddocks	Family Foundation	06-6395098
Asset Information:		
Description of Property:	PUBLICLY TRADED SECURITIES	
Date Acquired	How Acquired.	
Date Sold	Name of Buyer:	
Sales Price	650,556. Cost or other basis (do not reduce by depre	eciation) 623,713.
Sales Expense.	Valuation Method:	
Total Gain (Loss)	26,843. Accumulation Depreciation	
Description of Property:	SEE ATTACHED	
Date Acquired	How Acquired	
Date Sold.	Name of Buyer:	
Sales Price	Cost or other basis (do not reduce by depre	ciation)
Sales Expense	Valuation Method:	
Total Gain (Loss):	Accumulation Depreciation:	
Description of Property		
Date Acquired	How Acquired	
Date Sold:	Name of Buyer:	
Sales Price	Cost or other basis (do not reduce by depre	ciation)
Sales Expense.	Valuation Method:	,
Total Gain (Loss):	Accumulation Depreciation:	
Description of Property	<u></u>	
Date Acquired	How Acquired.	
Date Sold	Name of Buyer	
Sales Price	Cost or other basis (do not reduce by depre	ciation)
Sales Expense	Valuation Method:	, <u> </u>
Total Gain (Loss)	Accumulation Depreciation:	
Description of Property		
Date Acquired	How Acquired	· · · · · · · · · · · · · · · · · · ·
Date Sold	Name of Buyer	
Sales Price	Cost or other basis (do not reduce by depre	ciation)
Sales Expense	Valuation Method	,
Total Gain (Loss)	Accumulation Depreciation:	<del></del>
Description of Property		
Date Acquired	How Acquired:	
Date Sold:	Name of Buyer	
Sales Price	Cost or other basis (do not reduce by depre	ciation)
Sales Expense:	Valuation Method:	,
Total Gain (Loss):	Accumulation Depreciation	
Description of Property	<u> </u>	
Date Acquired	How Acquired	
Date Sold	Name of Buyer:	
Sales Price	Cost or other basis (do not reduce by depre	ciation)
Sales Expense	Valuation Method:	
Total Gain (Loss)	Accumulation Depreciation	
Description of Property		<del></del>
Date Acquired	How Acquired.	
Date Sold	Name of Buyer	
Sales Price:	Cost or other basis (do not reduce by depre	ciation)
Sales Expense.	Valuation Method:	
·	<del></del>	
Total Gain (Loss)	Accumulation Depreciation	

Form 990-PF, Page 6, Part VIII, Line 1 Information about Officers, Directors, Trustees, Etc.

(a) Name and address	(b) Title, and average hours per week devoted to position	(c) Compensation (If not paid, enter -0-)	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, other allowances
Person X Business Philip H. Sayles 2115 46th Ave SW Seattle WA 98116 Person X Business Jonathan B. Baldwin	VP/Trustee 0.10	0.	0.	0.
10 Sunrise Road East Boothbay ME 04544	VP/Trustee 0.10	0.	0.	0.

_	
ı	At a
	υla

0.	0.	0.
<del></del>		

Form 990-PF, Page 11, Part XV, line 3a Line 3a statement

Recipient	If recipient is an individual.	Foun- dation	Purpose of grant or contribution	Person or Business
Name and address	show any	status	grant or contribution	Checkbox
	relationship to	of re-		Oncombox
•	any foundation	cipient		Amount
	manager or			
	substantial			
	contributor			
a Paid during the year				
Walnut Hill School		Public_		Person or
12 Highland Street		charity		Business X
Natick MA 01760			General charitable purpo	3,500.
Boothbay Region YMCA		Public_		Person or
PO Box 500		charity	 	Business X
Boothbay Harbor ME 04538			General charitable purpo	5,000.
Recording for Blind		Public_		Person or
3500 Remson Court		charity		Business X
Charlottesville VA 22901			General charitable purpo	4,000.
Norwalk Senior Center		Public_		Person or
11 Allen Road		charity		Business X
Norwalk CT 06851			General charitable purpo	1,000.
Middlesex School		Public		Person or
1400 Lowell Road		charity		Business X
Concord MA 01742			General charitable purpo	1,000.
Gould Academy		Public		Person or
PO Box 860	<b></b>	charity		Business X
Bethel ME 04217		_	General charitable purpo	500.
Boxford Elementary School Trust		Public		Person or
PO_Box_176		charity	[	Business X
Boxford MA 01921			General charitable purpo	250.

Form 990-PF, Page 11, Part XV, line 3a

Line 3a statement

Continued

Recipient	If recipient is an individual,	Foun- dation	Purpose of grant or contribution	Person or Business
Name and address	show any	status		Checkbox
(home or business)	relationship to	of re-		
,	any foundation	cipient		Amount
	manager or substantial			
	contributor			
a Paid during the year				
Maritime Aquarium at Norwalk		Public		Person or
10 Water Street		charity		Business X
Norwalk CT 06854			General charitable purpo	250.
Norwalk Symphony Society		Public		Person or
1 Park Street		charity		Business X
Norwalk CT 06851			General charitable purpo	250.
Norwalk Youth Symphony		Public		Person or
71 East Avenue		charity		Business X
Norwalk CT 06851			General charitable purpo	250.
Winchendon School		Public	General charitable purpo	Person or
172 Ash Street		charity		Business X
Winchendon MA 01475				2,500.

Total

18,500.

Form 990-PF, Page 1, Part I Line 16b - Accounting Fees

Name of Provider	Type of Service Amount Provided Paid Per Books		Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
Bernard, Johnson & C	Accounting & Tax Prep	2,500.			

Total

2,500.

Form 990-PF, Page 1, Part I

Line 16c - Other Professional Fees

Name of Provider	Type of Service Provided	Amount Paid Per Books	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
Sanford C Berstein &	Investment Management	13,283.			

Total

13,283.

Form 990-PF, Page 2, Part II, Line 10b

L-10b Stmt

	End of Year			
Line 10b - Investments - Corporate Stock:	Book Value	Fair Market Value		
See attached list	1,872,826.	1,782,800.		
Total	1,872,826.	1,782,800.		

A subsidiary of AllianceBernstein LP

DAVID A. BERNARD, CPA

Account No.\* 888-30934 Period Ending 12/30/2011 **Last Statement** 11/30/2011

\* Comprised of the following sub-accounts: 038-40502 038-40503 039-18134

#### **ACCOUNT ACTIVITY**

Trade Date Settle Date	M	C	Quantity	Transaction	Description	Price/Share Rate/Share	Debit	Credit
Securities F	urc	nased and	l Sold		-			
12/07/11	8	1	100	Purchased	MORGAN STANLEY	16.710	1,671.00	
12/12/11					(A)*			
12/07/11	8	1	8	Purchased	SALESFORCE COM INC	121 935	975.48	
12/12/11					(A)*			
12/07/11	1	1	30	Purchased	WELLS FARGO & CO	26.410	792.30	
12/12/11					(A)*			
12/07/11	8	1	-15	Sold	RIVERBED TECHNOLOGY INC	26.573		398.60
12/12/11					VS 04/21/11 15 @ 35 032000 (A)*			
12/07/11	8	1	-30	Sold	RIVERBED TECHNOLOGY INC	26.573		797.20
12/12/11					VS 05/11/11 30 @ 35.925000 (A)*			
12/08/11	8	1	20	Purchased	CIT GROUP INC	33.994	679.87	
12/13/11					COM NEW			
					(A)*			
12/08/11	8	1	75	Purchased	CIT GROUP INC	33.994	2,549.53	
12/13/11					COM NEW			
40/00/44	•		45	0-14	(A)*	64.477		067.46
12/08/11	8	1	-15	Sold	PEPSICO INC	64.477		967.16
12/13/11					VS 09/28/11 15 @ 63 191000 (A)*			
12/09/11	8	1	-15	Sold	CELGENE CORP	63.410		951 15
12/14/11	_				(A,C)*	07.450	4 000 45	
12/12/11	8	1	45	Purchased	ILLUMINA INC	27.159	1,222.15	
12/15/11	_			5	(A,C)*	40.040	050.70	
12/13/11	8	1	20	Purchased	COVIDIEN PLC	42 940	858.79	
12/16/11	0		20	Durchaad	(A)*	26 369	791.06	
12/13/11	ð	1	30	Purchased	ILLUMINA INC	20 303	791.00	
12/16/11	Q	1	-5	Sold	(A,C)* CELGENE CORP	63,236		316.18
12/14/11	0	1	-5	3014	VS 02/16/11 5 @ 53.770000	00.200		310.15
12/19/11					(A,C)*			
12/14/11	8	1	-10	Sold	CELGENE CORP	63.236		632 36
12/19/11	_	_			VS 03/04/08 10 @ 56.318000			
12, 10, 11					(A,C)*			
12/14/11	8	1	-15	Sold	CELGENE CORP	63.236		948 53
12/19/11					VS 02/16/11 15 @ 53 770000			
• •					(A,C)*			
12/14/11	8	1	-5	Sold	CONOCOPHILLIPS	68.676		343.38
12/19/11					VS 07/02/10 5 @ 48 684000			
					(A)*			

<sup>\*</sup> Please see Transaction notes under Explanations at the end of the statement.



Account No.\* 888-30934

Period Ending 12/30/2011 Last Statement 11/30/2011

DAVID A. BERNARD, CPA

\* Comprised of the following sub-accounts: 038-40502 038-40503 039-18134

#### **PORTFOLIO SUMMARY**

- Quantity	<b>Description</b>	Price	Market Value	Estimated A Rate	Annual Income Amount
- Dynamic As	sset Allocation Overlay 54,839.975 OVERLAY A PORTFOLIO CLASS 1	10.100	553,884	\$0 12	6,307

Total Portfolio Value	1,796,650	1.81%	32,470

#### **ACCOUNT ACTIVITY**

Trade Date Settle Date	M	С	Quantity	Transaction	Description	Price/Share Rate/Share	Debit	Credit
				Opening	Cash Balance			8,480.92
Securities P	urcl	nased an	d Sold					
11/28/11 12/01/11	8	1	50	Purchased	CITIGROUP INC COM NEW (A)*	25.264	1,263.21	
11/29/11 12/02/11	8	1	-20	Sold	DEVON ENERGY CORPORATION NEW/ VS 10/11/11 20 @ 59.110000 (A)*	62.029		1,240.58
12/05/11 12/08/11	8	1	200	Purchased	MORGAN STANLEY (A)*	16.453	3,290.50	
12/05/11 12/08/11	8	1	-15	Sold	WELLPOINT INC VS 04/28/11 15 @ 76.169000 (A)*	69.154		1,037.31
12/06/11 12/09/11	8	1	-5	Sold	CONOCOPHILLIPS VS 07/15/11 5 @ 76.438000 (A)*	73 009		365.04
12/06/11 12/09/11	8	1	-15	Sold	CONOCOPHILLIPS VS 05/06/11 15 @ 73.041000 (A)*	73 009		1,095.13
12/06/11 12/09/11	8	1	-35	Sold	CONOCOPHILLIPS VS 06/07/11 35 @ 71.596000 (A)*	73.009		2,555.30
12/06/11 12/09/11	8	1	-40	Sold	CONOCOPHILLIPS VS 08/12/11 40 @ 66.483000 (A)*	73.009		2,920.34
12/06/11 12/09/11	8	1	-9	Sold	GOODRICH CORPORATION (FRM B F GOODRICH CO) (A)*	122 313		1,100.81
12/06/11 12/09/11	8	1	-20	Sold	LAS VEGAS SANDS CORP (A)*	45.560		911.19

<sup>\*</sup> Please see Transaction notes under Explanations at the end of the statement.





# SANFORD C. BERNSTEIN & Co., LLC

. A subsidiary of AllianceBernstein LP

DAVID A. BERNARD, CPA

Account No.\* 888-30934 Period Ending 12/30/2011 **Last Statement** 11/30/2011

\* Comprised of the following sub-accounts: 038-40502 038-40503 039-18134

Quantity	Description	Price	Market Value	Estimated Annual Income	
				Rate	Amoun
105	MOODYS CORP	33.680	3,536	\$0.64	6
300	MORGAN STANLEY	15.130	4,539	\$0 20	6
	NEWELL RUBBERMAID INC	16.150	2,423	\$0.32	4
	NORTHROP GRUMMAN CORP	58.480	3,216	\$2.00	11
	NV ENERGY INC	16.350	3,270	\$0.52	10
	NVR INC	686.000	1,372	\$0.00	
	PFIZER INC	21.640	17,312	\$0.88	70
	SEAGATE TECHNOLOGY PLC	16.400	1,640	\$0.72	7
120	THE TRAVELERS COMPANIES INC	59.170	7,100	\$1 64	19
95	TIME WARNER CABLE INC	63.570	6,039	\$1.92	18
125	TRANSOCEAN LTD	38.390	4,799	\$3.16	39
95	TRW AUTOMOTIVE HOLDINGS INC	32 600	3,097	\$0.00	
180	TYSON FOODS INC-CL A	20.640	3,715	\$0.16	2
155	UNITEDHEALTH GROUP INC	50 680	7,855	<b>\$</b> 0 <b>6</b> 5	10
145	VIACOM INC	45 410	6,584	\$1.00	14
135	WELLPOINT INC	66.250	8,944	\$1.00	13
			269 AI		
	Total Strategic Value	•	286,561	2.76%	7,91
Strategic Growth					
	ACCENTURE PLC IRELAND	53 230	3,460	\$1.35	8
80	ALLERGAN INC	87.740	7,019	\$0.20	1
* -	AMAZON.COM INC	173 100	6,059	\$0.00	
	ANADARKO PETROLEUM CORP	76.330	4,961	\$0.36	2
	APPLE INC	405.000	26,325	\$0 00	
55	BOEING CO	73.350	4,034	\$1.76	9
70	BORG WARNER AUTOMOTIVE INC	63.740	4,462	\$0 00	
200	BROADCOM CORP	29.360	5,872	\$0.36	7
	CBRE GROUP INC	15.220	2,968	\$0 00	
20	CELGENE CORP	67.600	1,352	\$0 00	
90	CITRIX SYSTEMS INC	60.720	5,465	\$0.00	
	COMCAST CORP	23.710	7,421	\$0.45	14
140	COVIDIEN PLC	45 010	6,301	\$0 90	12
200	DANAHER CORP	47.040	9,408	\$0.10	2
85	DOLLAR GENERAL CORPORATION	41.140	3,497	\$0.00	
135	DOW CHEMICAL CO.	28.760	3,883	\$1 00	13
300	EMC CORP-MASS	21.540	6,462	\$0 00	
70	EOG RES INC	98 510	6,896	\$0 64	4
14	ESTEE LAUDER COMPANIES INC	112 320	1,572	\$1 05	1
100	EXPRESS SCRIPTS INC COMMON	44 690	4,469	\$0 00	
55	FLOWSERVE CORP	99.320	5,463	<b>\$</b> 1 28	7
110	FMC TECHNOLOGIES INC	52 230	5,745	\$0 00	
170	GENERAL MILLS INC	40.410	6,870	\$1 22	20
	GILEAD SCIENCES INC	40.930	2,087	\$0 00	
	GOLDMAN SACHS GROUP INC	90.430	1,989	\$1 40	3
16	GOODRICH CORPORATION	123.700	1,979	\$1.16	1
	GOOGLE INC	645 900	18,731	\$0 00	•
	HARLEY DAVIDSON INC	38.870	2,527	<b>\$</b> 0 50	3
	HERSHEY COMPANY (THE)	61.780	1,853	\$1.38	2
	ILLUMINA INC	30.480	2,286	\$0.00	•
	INTUIT INC	52 590	5,575	\$0.60	$\epsilon$
	JOHNSON CONTROLS INC			\$0.72	9
130	ONI COMPINO HOCKING	31.260	4,064	ΨU.12	9





A subsidiary of AllianceBernstein LP

DAVID A. BERNARD, CPA

Account No.\* 888-30934 Period Ending 12/30/2011 **Last Statement** 11/30/2011

\* Comprised of the following sub-accounts: 038-40502 038-40503 039-18134

Quantity	Description	Price	Market Value	<b>Estimated Annual Income</b>	
•				Rate	Amount
197	JPMORGAN CHASE & CO	33.250	6,550	\$1.00	197
20	LAS VEGAS SANDS CORP	42 730	855	\$0.00	0
120	LIMITED BRANDS INC	40.350	4,842	\$0.80	96
400	MARVELL TECHNOLOGY GROUP	13.850	5,540	\$0.00	0
200	METLIFE INC	31.180	6,236	\$0.74	148
115	MONSANTO CO	70 070	8,058	\$1.20	138
85	NOBLE ENERGY INC	94.390	8,023	\$0.88	75
350	ORACLE CORP	25.650	8,978	\$0 24	84
35	PEPSICO INC	66.350	2,322	\$2.06	72
20	PERRIGO CO	97.300	1,946	\$0 32	6
85	POTASH CORP OF SASKATCHEWAN	41.280	3,509	<b>\$</b> 0 28	24
35	PRECISION CASTPARTS CORP	164 790	5,768	\$0 12	4
30	PROCTER & GAMBLE CO	66.710	2,001	\$2.10	63
35	PVH CORP	70.490	2,467	\$0.15	5
200	QUALCOMM INC	54.700	10,940	\$0.86	172
	ROCKWELL AUTOMATION INC	73.370	4,402	\$1.70	102
	SALESFORCE.COM INC	101.460	1,522	\$0 00	0
155	SCHLUMBERGER LTD	68.310	10,588	\$1.00	155
	STARBUCKS CORP	46.010	6,671	\$0.68	99
	UNITED PARCEL SVC INC	73 190	9,149	\$2.08	260
	V F CORP	126.990	2,540	, \$2.88	58
	VISA INC	101 530	3,046	\$0.88	26
225		37.500	8,438	\$0.60	135
		27 560	2,205	\$0.48	38
		2, 555	323 AI	******	00
	Total Strategic Growth		307,974	1.07%	3,294
	Total U.S. Equity	<del></del>	594,535	1.89%	11,213
International Equity International Portfolio 14,833.873	BERNSTEIN INTERNATIONAL PORTFOLIO	12.410	184,088	\$0.26	3,783
Emerging Market Emerging Markets Fund 1,935 808	BERNSTEIN EMERGING MARKETS PORTFOLIO	24.230	46,905	<b>\$</b> 0 24	465
Real Estate AllianceBernstein Globa 14,868.917	I <b>I Real Estate Fund</b> Alliancebernstein Global Real Estate invt FD II Cl I	7.990	118,803	\$0.24	3,494

'A subsidiary of AllianceBernstein L.P

DAVID A. BERNARD, CPA

Account No.\* 888-30934 Period Ending 12/30/2011 **Last Statement** 11/30/2011

\* Comprised of the following sub-accounts: 038-40502 038-40503 039-18134

Quantity	Description	Price	Market Value		Innual Income
				Rate	Amoun
Fixed Income Taxable					
Intermediate Duration	DEDUCTED WITCHAED LATE	40.000	004.250	to 25	7.004
20,515.865	BERNSTEIN INTERMEDIATE	13 860	284,350 239AI	\$0.35	7,201
	DURATION PORTFOLIO		239AI		
U.S. Equity					
Strategic Value					
	ALTRIA GROUP INC	29.650	5,930	\$1.64	328
500	APPLIED MATERIALS INC	10.710	5,355	\$0.32	160
225	ASTRAZENECA PLC	46.290	10,415	\$2.70	608
115	AT&T INC	30.240	3,478	\$1.76	202
	BP P L C SPONSORED ADR	42.740	11,754	\$1.68	462
75	CENTERPOINT ENERGY INC	20.090	1,507	\$0 79	59
275	CENTURYLINK INC	37.200	10,230	\$2.90	798
	CISCO SYSTEMS INC	18 080	2,260	\$0.24	30
	CIT GROUP INC	34.870	3,313	\$0.00	(
	CITIGROUP INC	26.310	13,155	\$0.04	20
		22 080	3,202	\$0.84	122
40	CONOCOPHILLIPS	72.870	2,915	\$2.64	106
155	CONSTELLATION BRANDS INC	20.670	3,204	\$0.00 \$0.30	75
	CORNING INC	12 980	3,245 1,463	\$0.00	/s
	DELL INC	14.630	2,508	\$0.00	(
	DELTA AIR LINES INC DEL	8 090 62.000	2,480	\$0.68	2
	DEVON ENERGY CORPORATION NEW DIRECTV	42 760	1,924	\$0.00	(
45 65	DTE ENERGY CO	54.450	3,539	\$2.35	153
120	FORD MOTOR CO	10.760	1,291	\$0.20	24
70	GAMESTOP CORP	24.130	1,689	\$0.00	
	GANNETT CO INC	13.370	4,680	\$0.32	112
300	GENERAL ELECTRIC CO	17 910	5,373	\$0.68	204
		20.270	6,588	\$0.00	20
	GILEAD SCIENCES INC	40.930	4,052	\$0.00	
13	GOLDMAN SACHS GROUP INC	90 430	1,176	\$1.40	18
	HEALTH NET INC	30 420	1,825	\$0 00	_
	HEWLETT PACKARD CO	25.760	12,236	\$0.48	228
	INGERSOLL RAND PLC	30 470	1,371	\$0.64	29
225	NOSNHOL & NOSNHOL	65.580	14,756	\$2.28	513
	JPMORGAN CHASE & CO	33 250	7,481	\$1 00	22
	KROGER CO	24 220	7,266	\$0.46	13
	LAM RESEARCH CORP	37 020	2,777	\$0.00	
70	LEAR CORPORATION	39 800	2,786	\$0 50	3
50	LORILLARD INC	114 000	5,700	<b>\$5</b> 20	26
	LOWES COMPANIES INC	25.380	2,919	\$0.56	6
	LYONDELLBASELL INDUSTRIES	32.490	4,874	\$1.00	15
	MARATHON OIL CORP	29 270	7,318	\$0.60	15
		33.290	7,490	\$1.00	22
	MCGRAW HILL COMPANIES INC	44 970	2,024	\$1.00	4
	MICRON TECHNOLOGY INC	6.290	3,302	\$0 00	



SANFORD C. BERNSTEIN & Co., LLC

A subsidiary of AllianceBernstein L.P.

Account No.\* 888-30934

Period Ending 12/30/2011

**Last Statement** 11/30/2011

BOS1

\* Comprised of the following sub-accounts:

038-40502 038-40503 039-18134

004529 ABSTMF01

DAVID A. BERNARD, CPA A/C SAYLES & MADDOCKS FAMILY **BERNARD JOHNSON & COMPANY 15 MAIN STREET** TOPSFIELD MA 01983-1842

Bernstein Advisor: Advisor Associate(s): **Bnan Chilton** Jillian Campbell (617) 788-3710 (617) 788-3806

Jennifer Kaing

(617) 788-3802

Jennifer Coutuner

(617) 788-3815 (617) 788-3800

Fax Number:

MEMBER, NEW YORK STOCK EXCHANGE, INC.



ACCOUNT SUMMARY	Opening Balance	%	
Cash	8,481	0.5	
Intermediate Duration	282,659	15.7	
Strategic Value	284,843	158	
Strategic Growth	310,599	17 2	
International Portfolio	193,730	10.7	
Emerging Markets Fund	49,567	27	
AllianceBernstein Global Real Estate Fund	119,418	6.6	
Dynamic Asset Allocation Overlay	554,390	30.7	
Total Account Value	1,803,687	100.0	

Closing Balance	% -
13,846	0.8
284,589	15.8
286,561	15.9
307,974	17.1
184,088	10.2
46,905	26
118,803	66
553,884	30.8
1,796,650	100.0

INCOME SUMMARY	Current Month	Year To Date
Credit Interest	1	6
Taxable Bond Fund Dividends	1,886	10,438
Equity Dividends	8,497	19,331
Dynamic Asset Allocation Dividends	28,31 <b>9</b>	28,319
Total Income	38,702	58,094

CAPITAL GAINS SUMMARY Through 12/30/2011	Current Quarter	Year To Date
Short Term	-4,865	5,080
Long Term	29,372	49,203
Total	24,507	54,283

Quantity	Description	Price	Market Value	Estimated Annual Income Rate Amount	
Cash					Amount
	Closing Cash Balance		13,846	0.05%	7

